b Eo# A EEE

LSEE-EBEHEEHFH

RHM4E1A




AHRERER LESHERES
% # e - Bk B g 1 % =

EEREE 2,701,791
BT .701,791 x 76.1% — 7,853 2,048,209
REERE ,701,791 + 2,048, 209 4,750, 000
E R ,208,615 + 77,000 2,285,615
EEAGE 2,208, 615
EEEE 77, 000
T Ot R A ,208,615 x 53.85% ( 35% + (1 — 35%) ) 1,189,339
BRI ,285,615 + 1,189, 339 3,474,954
—REEES 474,954 x 53.85% (35% + (1 — 35%) ) — 6, 216 1,865, 046
HEIHEBE , 474,954 + 1,865, 046 5,340, 000
£ ,750,000 + 5,340, 000 10, 090, 000




AHRERER LEBHARES
2 # e - Bk B B 1 & = =

ERARE 865, 166
BT 361,516 x 91.2% — 4 868 324,834
ABEEE 865,166 + 324,834 1,190, 000
BRI 113,480 + 1,134 114,614
EEAGE 113, 480
EEEE 1,134
T Ot R A 113,480 x 53.85% (35% + (1 — 35%) ) 61,108
EHRM 114,614 + 61,108 175, 722
—REREE 175,722 x 53.85% ( 35% + (1 — 35%) ) — 348 94,278
ABREE 175,722 + 94,278 270, 000
AR ETEE 1,190,000 + 270,000 1,460, 000
BEHER 10,090,000 + 1, 460, 000 11, 550, 000
HERERLE 11,550,000 x 10.00% 1,155, 000
FAISE 12,705, 000




EHBERNRE LESHSRES
% o 1BH% - Pkt Bif B i o S
EEREE 4,987, 406
MSIEEER 4,987, 406
MSIEEER 4,987, 406
SR 4,874,006
BEEE 318, 950
1-1 RE#E 1.00 234,768 234,768
=
1-2 #HIER QEELY) 1.00 84,182 84,182
=
HsEE 3,087, 991
1-3 #{F - fgs 1.00 975, 585 975, 585
]
1-4 SR E 88. 40 23, 896 2,112, 406
km
fEHT 1,467,065
1-5 &R RN 80.15 18, 304 1,467,065
km
BEERE 113, 400
RE 71, 000
1-6 7R R 1.00 71, 000 71, 000
=
Z it 36, 400
1-7 EIEERE 1.00 36, 400 36, 400




EHBERNRE LESHSRES
% o 1BH% - Pkt Bif ® i & = £

EENEE 979, 780
EERE 979, 780
EERE 979, 780
EEALE 939, 880
B E R 271, 384
2-1 AE#ERE .00 204, 121 204, 121

E
2-2 HERHEWR QEFEEHY) .00 73, 263 73, 263

E
EEHRE 44,232
2-3 1R .00 25, 801 25, 801

s
2-4 HELEWR .00 18, 431 18, 431

E
Faxin 503, 650
2-5 HHTEER .00 503, 650 503, 650

E
RE 114,614
2-6 IMEEZER .00 114,614 114,614

%
EERE 39, 900
RE 3,500
2-7 EHFHRR .00 3,500 3,500

E
ZDith 36, 400
2-8 MEIRRERE .00 36, 400 36, 400

=




RET-FEL/ \vr—2 REARSIEAS
H5 :1-1
B REER 12tHyY
2 # 1B - AR By B B ff %8 w = ® =
F AR (%D
A 1.50 57, 400. 00 86, 100
HEm (A)
A 1.50 51, 200. 00 76, 800
BIE
A 1.00 40, 000. 00 40, 000
HERES
A 1.00 30, 700. 00 30, 700
HAH 0%
% 0.50 233, 600. 00 1,168
& H 1E¥8eH 1. 00K 234,768. 00 234,768
&5 12
B MAERR QEELY) EEL)
2 # 1B - Ak HA By B B ff i w = % =
MERDE
A 2.00 24,200. 00 48, 400
HL—off k59 4t 2t
H 1.00 35, 364. 00 35,364(5.80H / 8H
HAH 0%
% 0.50 83, 764. 00 418
& H YEZEREN - 1. 00 84,182.00 84,182




RET-FEL/ \vr—2 REARSIEAS

&5 :1-3
B A - B 1#HY
% # itk - fRTE By B 8 B £ % ' & &
REE SARRY L
= 4.00 3,139.00 12,556/2. 00H / 8H
HRE RS WSMEESREED )L, Bk, THHF
= 2.00 14, 355. 00 28,710
HEM FRP D 70PSE 3.0t
= 3.00 66, 221.00 198, 663 8H
EEHER (GRED
A 3.00 57, 400. 00 172,200
XEm (A)
A 4.50 51, 200. 00 230, 400
AR RET
A 2.00 40, 000. 00 80, 000
AIE R
A 2.00 30, 700. 00 61, 400
AEWME
A 6.00 24, 200.00 145, 200
MM EAEDY
% 5.00 929, 129. 00 46, 456
& F fES£8EN - 1.0048 975, 585. 00 975, 585




REAR-ET/Avr— LEBHSRES
&5 14
2% WERE 1B%Y (16.4km)
% #H B - fodktiE B £ Bl 58 TES w =
REE SARRY L
= 1.00 3, 139. 00 3,139]2. 00H / 8H
FEM FRP D 70PSE! 3.0t
= 1.00 66, 221. 00 66, 221|8H
BRIEERBSE BRBEEREEQA L. BEE. ke
= 1.00 14, 355. 00 14, 355
GNSSAIFIEE DGNSS
= 1.00 18, 150. 00 18, 150
SERFE 1@  200kHz
= 1.00 9, 256. 50 9, 256
T EHEm (&5
A 1.00 57, 400. 00 57, 400
HED (A)
A 1.00 51, 200. 00 51, 200
A TRER
A 2.00 40, 000. 00 80, 000
B2 B A
A 1.00 30, 700. 00 30, 700
AEHF
A 1.00 29, 600. 00 29, 600
AEWEE
A 1.00 24, 200. 00 24,200
MR EHD%
% 2.00 384, 221. 00 7, 684
& VEgRe S 16.40km 23, 896. 00 391, 905




REAR-ET/Avr—

LEBHSEES

&5 :1-5
B BRENT 100km& Y
£ 7 R - BAKTiE I=“Riva = B O(f L] W = " &
F{EHED (%5
A 7.00 57, 400. 00 401, 800
e (A)
A 10. 00 51, 200. 00 512, 000
& (B)
A 10. 00 40, 600. 00 406, 000
B S AR
A 5.00 40, 000. 00 200, 000
B S H AR
A 5.00 30, 700. 00 153, 500
BIEBNF
A 5.00 29, 600. 00 148, 000
R S
% 0.50 1,821, 300. 00 9,106
& & YE%HEH - 100.00k m 18, 304. 00 1, 830, 406
&S :1-6
2 EBHERS 1xXEY
2] 5 R - KT By £ B 58 = i &
EBRRRE
=® 1.00 71, 000. 00 77,000
= it 2 1.00= 71, 000. 00 77,000
&5 :1-7
2% IERERE 1xXEY
2] [ R - KTk By £ B £ W E i &
E-AYVIRE
=® 1.00 36, 400. 00 36, 400
= H 2 1.00= 36, 400. 00 36, 400




REAR-ET/Avr—

LEBHSEES

H5:2-1
A% RAEEE 1KY
£ 7 R - BAKTiE I=“Riva H = B O(f L] W = " &
B FEHED
A 2.00 45, 700. 00 91, 400
B S AR
A 2.00 40, 000. 00 80, 000
B S H AR
A 1.00 30, 700. 00 30, 700
A 2R0Y%
% 1.00 202, 100. 00 2,021
& H 1EZBER - 1,00 204, 121.00 204,121
&S :2-2
B BMERQEERESZY) 1xXEY
4 5 R - KT B #H = B O(f 5 W= s &
BIEHEE
A 2.00 24, 200. 00 48, 400
kv VAR
=] 1.00 24,138. 00 24,138|4.70H / 8H
R S EX7NOY
% 1.00 72, 538. 00 725
= & {EZE8EH - 1. 00X 73, 263. 00 713, 263




REAR-ET/Avr— LEBHSRES
H5 :2-3
2% R 1B%Y (7.8i)
% #H B - IR B £ Bl 5 TES w =
REE SARRY L
= 1.00 3, 139. 00 3,139/2. 00H / 8H
FEM FRP D 70PSE! 3.0t
= 1.00 66, 221. 00 66, 221|8H
A2 R
A 1.00 40, 000. 00 40, 000
B = B
A 1.00 30, 700. 00 30, 700
AEBF
A 2.00 29, 600. 00 59, 200
MR XYoL
% 1.00 199, 260. 00 1,992
& VEBe S 7. 80H A 25, 801. 00 201, 252
&5 24
B - HELER EEL
% # s - ikt iE I B E %8 TS B =
B2 B A
A 0. 50 30, 700. 00 15, 350
TEE S4FRY oL
= 0. 50 6, 163. 00 3,081/6. 00H / 8H
& F YE2EEN - 1,002t 18, 431. 00 18, 431
&5 :2-5
ZH . DHTHER EEL
£ 5 B - BRI E B E % S ® =
SHERER
% 1.00 503, 650. 00 503, 650
& & YEZEEN - 1,00z 503, 650. 00 503, 650




REAR-ET/Avr— LEBHSRES
HS5 :2-6
B REBHER EEL
r 7 B - fodktiE B £ Bl & & i " =
T EHEm (&5
A 1.30 57, 400. 00 74, 620
HEm (B)
A 0. 60 40, 600. 00 24, 360
Riffig
A 0.50 29, 000. 00 14, 500
EERARE FIEE DY
% 1.00 113, 480. 00 1,134
& &t Veghe S 1. 00zt 114, 614. 00 114, 614
&5 2-1
B £BHER EEL
£ 75 % - kT iE B B T ¢ = i ® =
£BRERE
% 1.00 3, 500. 00 3, 500
& & VEgBe S - 1. 005t 3, 500. 00 3, 500
&5 :2-8
2% BIERERE EEL
% 75 s - ikt iE T B T & = i % =
E=AYUTRE
% 1.00 36, 400. 00 36, 400
& & YEZhES 1. 00z 36, 400. 00 36, 400




